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E6-6

St ERCHFG | AB TAF, % DE TAG. £ RtAACF &, R = A @ %7 k CF. &
RIACDG W ARHE = A & 37 5k (G, FARYE FG = FC+ G B 7 KA.

B WK 6-7. 10 CIEFG | AB T/ F .2 DE T 55.G.

K-8 CD 5#uE DE 3/t~ CDE )y 12°, /ACD )y 80°,

L /ACF = 90°+12°—80° = 22°,

FIfPA .~ CAF = 68°.

4 RIAACFEF |1, CF = AC - sin L/CAF = 0. 744 m,

1t Rt/ACDG i, (G = CD - sin /CDE = 0. 336 m.

A FG = FC+ (G~ 1. 1m.

Fe MBI TR —m A I EE R 2905 1.1 m.

W AME S THMAAZAVGER . 22X ARG EARAEASRIBE, LR AT iR
it e 5% T 9] AL

B3 Kl 6 — 8, —AREEHT H VY AR NIAT - AE A AL AR AL 2R 68. 775 A — /N Cl 488 2R
AT 60 n mile (G HD Bk B AL, 45/ND C 1IN AERS AR AL R 2R 26. 5° 0517 . 2 J5  FE T4k 2210 2R
I RE 2RIy Er VN N OF 314

(ZEHP: sin21. 3° ~ i, tan 21. 3° &~ 2, sin 63. 5° &= 2, tan 63. 5"~ 2)

25 5 10
b4

C % C
% ﬂ
I

I

a

A B A B D

Ee6-8 E6-9

oW BRHEEBENGCHRAES . AXANAAZ AVBE.
&l 6 - 9.1/ CECD _LAB, 22 AB IEREL T 5 D #38] RtAACD 5 RtABCD.

% BD = z n mile,

# RtABCD i, tan ./ CBD = %,ﬁﬁ /CBD = 63.5°% JifbA CD = x - tan 63. 5°.

7 RtAACD i1, AD = AB + BD = (60 + ) n mile, tan A :%,ﬁﬁ A =213,
L CD = (60 +2) - tan 21. 3°.
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ESABh  m (BRI
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F D C
(28D (F38)

3. —ElE M= R IBCE A C A FD RGER 2 b, AB )/ CF, /F = ZACB = 90°,
/S E=45°, /A =60°, AC = 10,l] CD = .

4. Il AERE I A B AL AL M EAE AL RIS AE B R Y 157510 A &L S AL iy 7575
VA 40 n mile/h O BEATA T LA T/ NI R 210k C AL £E CAEMINE] B 78 C AL IRAS 607517

L0 B, C 2 AR H ( )
A. 10/3n mile B. 20 n mile
C. 204/2 n mile D. 30 n mile

A B D C
(48 (ESB)

5. WL fE ROABAD i JEK AL BD %8 C i DC = LBD. ¥ 3 AC. %5 tan B = 2, 1
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V3 V3
A. 5 B. 3
| 1
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il
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(1) 6B BQ 5 PQ 25 A% i HEE . =l
(2) 2R A, BIRIEEES. (ZEZHIR: cos41° ~0.75) . E+?F\
I
49°
P Q /
24 5% 41
B
(F o6/

7. W K AB [ — B9 , 2B 5510 — i/ N DE A8/ NS T D AR I 75 5 5
Wik % 5 C (AR 20 307, IS R Tt A AN 45° G B, C, EfERl—/KFFZR ). 2R
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V3 & 1.732)
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8. W,y T I L3RR PQ I B ANIRTE AL A RCR T A SO I P A AR 45°, 2%
JE AR LR PQ A TAIRTEE 10 m Bk A B AL, SR 1 P AU JE Q B 14 Bl 60°
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(1) 7E RIAABC W1, /B = 90°, AB = 6, BC = 8,/ sin A = .

(2) /£ RIAABC HI, /B = 90°,#1 AC LIk BD =5, AB = 8,ll] tan A =
(3) FE=SEH KN 5 em, IR K 6 em, B HR MR ARG :
(4 ZTMRA K5 By 2370 6. 2= TR NN fIR Ok :

(5) AN ZEE £ = 1+ /3 QOB Tt T 50 mo IS Ml A T F 7 P T m,
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C A‘P
| /])’\A
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A 6 B. 10 C. 3—32 D. 12
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5 12 5 12
A. E B. E C. E D. E
(3) 7F RtAABC 1, /C = 90°, ¥ A LA Fla B, oK o N 2 U2 ( )
__a o a
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() FEAABCH L tan A = 1. sin B = Y2 frUO0H I A2 ¢ )

A. ANABC 2% B=
B. NABC 2% B M —ME
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MO FT B A EE 53 302 30°, 45°, 60° (Rt MEELe i B D U = AT ¢ )

A. H RS B. 4k
C. WAL D. 1M
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[(B4RE]
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- a +1) — 1 - / i _3V15
2«/ = >< 36 36— 2 4

F=Bx ARG KRENH

§3.1
(ERtIZE)

11
1*7’

1. 1. 2. —7. 3. 22—8. 4 ~ 5.5
el



[JUIEIZR>] ]
J,T: 35
LC 21,—1 3 = 42 5 Mr=23 (@ 1
=
§3.2

[EntNg]
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